515 520 For any colour, Yy 15100, D65 ~08 0.0 08 1,68017%10/Y10

0,85%0 2525 [max (m) chromatic value?],
508 Mig the chromaticity diagram (10, y10) ssMm 578 eooReezs -
Yl 0,0TVA=S
M=
0,69 2 49)‘
-0,8
49
as N 48
Q625 _
700 é,ﬁ
0,2 =
‘:{ e
o
/ CIE 1964 X10 'Ib For any colour, \Yyy\0=100, D65 550c]
0,0 Z0855€r = [max (k) chromatic \alue?],
0,0 0,2 04 0,6 0.8 10 £ chromatlgity diagkam\(ag 10, bo10)
EE900-1A EE900-2A
-08 00 0,8 1,621,16°%10Y10 -08 00 08 1,692,16(X10-0,171)¥19
52sMm 575 600"€e25 700 s2sMm 575 606%€625700
0,01V)= 0.8% =
M)\— ) Mj=
49 49 495¢ E
-0,8 -0,8 500¢,E
510c.E
48 48
525¢,E
3,6 3,6
2 2
<] s <]
< b
b - 1 -
L For any colour, \Yiy\0=100, D65 550¢] L|F I, Yy, 10100, £266c, £
a [max () chromatic \alue?], = [rﬂ omatic value?],
) chromatlgity diagkam\@g,10, bo.10) &' | chromatigity ldiagram (a;.1q b1.10)
EE900-3A EE900-4A

-08 00 0,8 1,683,16(X10-0,171)¥10 -08 0,0 08 1,684,16(X10-0,171)¥19

o

575 8058625 700

0, = 0,
g 9
b 495¢,E
-0 500c¢,E —3,8
510c,E =
@
525¢,E R
- o
3 3
& Sl
< el
=) T
'Ib For any colour)¥gpq =100, D65 e
a max (m) chrognatic value?], =
£ thromaticity dfagram (az.10, b1.10) S
EE900-5A EE90
-0,8 0,0 0,8 1,685,107(0:866-0,7216-0,027)§10 -0,8
vy 522Mm_ 75 60065 700
M £ FE——X 0,0
-0, -8,8
£ =
T 5
g 5
H 3
X —
8 L
= 1
) é [max (m) chromatic value?])
£ & | chromaticity diagram (ag10,
EE900-7A EE900-8A

EE900-7N




